1 2 4 5 6 7 8 9 10 11 12 13 | 14 | 15 | 16
NOTE:
8 only of M10x40 Hex head bolts required
for assembly C/W washers and nuts.
- B 72

D

) )|

N/

© Copyright : Gatic Pty Ltd - 2018

\/ ‘ <> -
= ——
|_i n =1 o
®) <@ g g o
O S
o
I I
I A\ =
= ——
| et
A A ]! V‘ -
\Jl
\d
—— SECTION B-B
842
GM301C76D
992
Iltlim Drwag. Rev. Title Material Qty. | Mass (kg)
1 1660 D 762x610 C/O Concrete Infill Cover Class D Ductile Iron 500 - 7 1 61.7 kg
2 1681 A Plastic Keyhole Plug UV Stabilized Nylon 4 0.0 kg
3 4005 B 610mm LH Side Bar Class D Ductile Iron 500-7 1 9.3 kg
o [ \ ’ U ’ \ I | 4 4006 B 610mm RH Side Bar Class D Ductile Iron 500 - 7 1 9.2 kg
— = — — —x
AN 1 4 5 4012 A 762mm Under Cut Bar Class D Ductile Iron 500-7 1 10.4 kg
762 C/O 6 4008 A 762mm Draw Cut Bar Class D Ductile Iron 500-7 1 12.6 kg
SECTION A-A 7 2856 A M10 Washer Nylon, general purpose 2 0.0 kg
8 2857 A M10x65 Socket Head Cap Bolt Stainless Steel, 304 2 0.1 kg
9 2855 A M10 Washer Stainless Steel, 304 2 0.0 kg
10 2854 C Plastic Plug @26 mm UV Stabilized Nylon 2 0.0 kg
UNLESS OTHERWISE STATED | ngaR MACHINING TOLERANCE: NOM = Nominal; O/A = Overall; TYP = Typical; C/O = Clear Opening pu— BY DATE |“Chuzoicren |™ 762x610 C/O CONCRETE INFILL COVER & FRAME
5 ALL FIERSURES IN MILIMETERS. i'x igfﬁ mm ALL CAST SURFACES TO BE PAINTED AS SPECIFIED. @E — — CASD oY
@ GENERAL CAST TOLERANCES: : o mm FINISH: B ATED COMPONENTS 70 BE HOT DI ' — orawn: | M. | 06-02-15 FORMAL\'_'T'S' MATERIAL: - | s 103.2 kg
0 A_| 14-09-18 |Initial Release FM. | SS. cC;thfNIGSCv::gflz-é mm QNGULZ%P;/:CHINING TOLERANCE: E{?SLpi/?’:iEIEIDO.LOG/;'SI"I‘gBSOéALING GREASE TO BE e Aot R i THIRD ANGLE | @%@ | S5 ] 06:02715 A3 feee REV:
© No | DATE DESCRIPTION BY |ckD.| praFT TAPERS: 2° XX £0.1° APPLIED ON ALL MACHINED SURFACES. ghl-sors{agggdzré?ed'Fz(x)-Boosxglzs' 5833'&"&’1;@;@%%& PROJECTION | approveo:| H.B. 06-02-15 |77 1of 1 5520 A
1 2 | 4 5 6 7 8 9 | 10 | 11 | 12 | 13 | 14 | 15 | 16




